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Name: Addition 

Warm Up

1)  5 8
6 1+

4)  5 8
4 3
2 4

+
2)  6 3 5

8 4 6+
5)  1 4 . 5

2 5 . 6+
3)  7 2 4

8 9 5+

1)      On the back of a truck are 65 kg of apples and 
88 kg of oranges. What is the total weight of fruit 
on the back of the truck?

2)     There are 3 pieces of wood, 105 cm, 126 cm 
and 107 cm long. What is the total length of the 3 
pieces of wood?

3)     There is a  bottle containing 375 mL of orange 
juice. 550 mL of orange juice is added to the bottle 
of juice. What is now the total volume of orange 
juice?

4)     A theatre sold 168 tickets for Saturday night. It 
then sold 153 tickets for Sunday’s performance. 
What is the total number of tickets sold for the 
weekend?

5)    12 teachers, 238 students and 11 parent helpers 
went on a school excursion to the  museum. How 
many people went on the excursion altogether?

6)    Katrina ran 14.6 km and  Agi ran 12.3 km in the 
charity Fun Run. What was the total amount the 
two girls ran?

7)    Peter has saved $39, Michael $26 and Nigel $33 
for their trip away. How much in total have they 
saved?

8)    On a farm there are 335 sheep, 125 cows, 14 
horses and 46 chickens. What is the combined 
total of animals on the farm?

9)     In the back of the truck there are 53 kg of 
apples, 64 kg of oranges and 77 kg of 
mandarins. What is the total weigh of fruit in the 
back of the truck?

10)      To calculate the perimeter of a triangle add 
the length of each side. What is the perimeter of 
a triangle with sides of 29 cm, 33 cm and 46 cm?


